Dividing Money (D)

10.

Calculate each quotient.

43 ) $550.40 2. 28) $1002.40 3. 12 ) $685.20
16 ) $940.80 5. 45) $2929.50 6. 45) $3249.00
88 ) $7559.20 8. 10 ) $240.00 9. 18) $1690.20

If 93 identical teddy bears cost $6091.50, how much did each teddy bear

cost?
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Dividing Money (D) Answers

10.

$ 12.80

43 ) $550.40
—$430.00
$120.40
—$86.00
$34.40
—$34.40

$0.00

$ 58.80

16 ) $940.80
—$800.00

$140.80
—$128.00

$12.80
—$12.80

$0.00

$ 85.90

88 ) $7559.20
—$7040.00

$519.20
—$440.00

$79.20
—§79.20

$0.00

Calculate each quotient.

$ 35.80

28 ) $1002.40

—~§840.00

$162.40
—$140.00

$22.40
—$22.40

$0.00

$ 65.10

45 ) $2929.50
—$2700.00

$229.50

—$225.00

$4.50
—$4.50

$0.00

$ 24.00

10 ) $240.00
—$200.00

$40.00

—$40.00

$0.00

6.

$ 57.10

12) $685.20
—8$600.00

$85.20
—$84.00

$1.20
—$1.20

$0.00

$ 72.20

45 ) $3249.00
—$3150.00

$99.00
—$90.00

$9.00
—$9.00

$0.00

$ 93.90

18) $1690.20
—$1620.00

$70.20
—$54.00

$16.20
—3$16.20

$0.00

If 93 identical teddy bears cost $6091.50, how much did each teddy bear

cost? $65.50
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